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Note : Before answering the questions, read carefully the instructions given on the

OMR sheet.
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SECTION - A : MATHEMATICS (#4638 w=9%w0)

1 (6+5V3)-(4-345) is

(1) Rational number (2) Irrational number

(3) Natural number (4) None of the above
(6+5v3) - (4-343) wso

(1) o8t Sowg (2) 8edon Homg

(3) &res Sowg (4) 3 Y

2 Which of the following rational number have terminating decimal?
808 T°&36° 2 w¥8edo K)oa_ng @0655’:565)3 d%"omi’)l DA dotvod?

7 16 5 2
1) — 2) — 3) — -
(D 250 ) 225 ©) 18 4 21
34-“H.C.F.,"01£.2023.°2024. 2025 15
2023, 2024, 2025 o Q). 5.3

(1) 2024 (2) 2023 (3) 0 @1
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If -1, -2 are two zeros of a polynomial 2x° + ax

The value of logg 2 +1logg3 is e di

logg 2 +logg 3 Bngy dewd
(1) 0 (2) 1 3) 2 (4) 3

Exponential form of log, a=c

log, a=c G Hrd drdhw
(1) b =c - (2) a®=b (3) ab=c (4) bé=a

The product of prime factors of 2024 is

2024 B (Do sederosee €233
(1) 11x23x32  (2) 23x11x23  (3) 7x23x23 (4) 23 x 112 x 22

Which of the following two sets are equal sets?
1808 Bodh dWHVS® D HEPH Heen?

(1) A={5,6}, B= {5} (2) A=1{5,6}, B={5,6,7)
(3) A=1{5,6,7}, B={7,5, 6) (4) A=1{5,6,8}, B={5,6,7)}
{0} 1s a set which has elements.

{0} o8 Drosced $OA &) HD8.

(1) 0 (2) 1 3) 4 (4) 3

If P(x) =11x% - 5x% + 4x* —7x2 + 6, then the degree of P(x) 1S

P(x)=11x8—5x6+4x4—7x2+6 L9000, P(x) By DKo
(1) 8 (2) 6 (3) 4 (4) 2

2

a and b are

2x° +ax® +bx—2 oD w5vsd @) Both drargen —1, —2 vand, a LBk b En)

eV e _
(1) 2, -1 (2) -5, -1 (3) 5;il (4) -2. -1

SPACE FOR ROUGH WORK / d& %08 Sétravosadsd RSB
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If a, are the zeros of the polynomial P(;.:)=3;;-2 —x—4, then a-PB =
P(x)=3x2—x—4 O VDD BwE) drargen o, oy, o-p =

= . gy et 1
(1) @ - B =i 4)

Which of the following equation represent the situation where Kiran bought 5 oranges,
7 apples and Harish boughif 2 oranges, 12 apples for same amount of total money?

8865 5 Trdoen, 7 o)y ﬁn?am 8% 2 arbomen, 12 oirdSy AAVAMT 28 g8
‘_.
). 808 dDESreS® Sdrd) HroB BESHRY J87?

(1) 5x+12y=2x+17y G (2) S5x+7y=2x+12y
(3) Sx=Ty=2x=12y_5" % (4) Sx+2y=Tx+12y
2 3 0
If —=+—==2 and —=-——==-1, then
e fu e
4( 9
—=2 Hdan '-j——-——l oW,
v R

(1) x=4, y=3 (2) x2,y=9 (3) x74,y 59 (4) x=2,y53

The pair of equations x+ y =35 and 2x+2y =k has infinitely many solutions 1if k =

x+y=35 doaty 2x+2y =k ob Db EdeTre 238 HOSHD FEHOD EOA soard o, k =
(1) 4 (2) 6 (3) 8 (4) 10
f"‘i

If —# _bl where a,x+ b,@—% ¢, =0 and a,x+b,y+c, =0 are two linear equations,
a T
2 2

; \
then the equations -
(1) have a unique solution | (2) have infinitely many solutions
(3) have finite solutions (4) have no solution
b )

(4]
a—]:;t.b—. @55.)8&)&1)”‘ alx-F:E]y+cl =0 HHda azx+b2y+cz—0 @R':}K)Boc&'ég)oﬁ
2 2

868, © BhrEdares *3

e _
(1) JBE J&d 8OA doeron| (2) ©508d JeHen EOA Gotron
(3) HOVEDH Fesden DA dodran (4) & s 508 dosd)
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The value of p, for which the pair of equaﬁons 3x+4y+2=0'and 9x+ py+8=0
represents parallel lines, is

3x+4y+2=0 8o Ix+ py+8=0 od LEbmre ud Shrodd Tped drdodd,
P de0d

(1) 22U (2) 4 3) 6 . (4) 12
The roots of the quadratic equation x> —4x+4=0 are

x? —dx+4=0 @iﬁ:ﬁgﬁédm orereen .

(1) 4, 1 (2):2,'2 3) -2, -2 (4) 4,2

The sum of the roots of the quadratic equation 3x* —Sx+2=0 is

3x2 —5x+2=0 o3 e LS Karrere) RNV
(1) 3 (2) 3 (3) : (4) 5

Sum of the areas of two squares is 625 m?. If the difference of their perimeters is 20 m,
find the sides of the two squares. _ |
(1) 20m, 5m (2) I5m, 10 m (3) 20m, I5m (4) 25 m,5m

Bodh S&d|dre Jrerge Indhin 625 $.0. a0 Dty Fode Bedw 20 . vans, © Bod
Sehdre gherod SHFDID.

(1) 20 v, 5 (2) 15, 10 (3) 20, 15 (4) 25,5 D

The discriminant of the -quadratic equation 3x% —2x -l-%:O 1S

A - 2x+%= 0 od 5 o B9 @By NSEed

(1) 32 (2) 16 (3) 0 4) 1
Which term of the A.P. : 20, 18, 16, ..... is ‘—80°?

20, 18, 16, ..... ®3 ©os@ESS° ‘—80" A9yd HeS5dn?
(1) 50 - (2) sl (3) 52 (4) 53

SPACE FOR ROUGH WORK / 0 38 eronosseds goi
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22 How many two, digit numbers are divisible by 3?
3 B 2rhodd Bodose DoPgen A ?
(1) 25 (2) 28 (3) 30 (4) 36
23 Ina G P. the 3" term is 24 and 6' is 192, then the 10™ term is
28 HDERS° 3 S HShn 24° Hdaxw 6 H HeSH0 1927 eawnd, 10 H B0
(1) 2072 (2) 3072 (3) 1072 (4) 1672
24 The common ratio of G. P. : 25, -5, l,_?l, ......... 1S .
25,-5,1, _?l, ........ O DR QB JrDg RS
—1 1 2 3
])  — 2) — 3) = 4) —
(1) ; (2) : (3) . (4) -
25 The distance between the points (xl, yl) and (xz, y2) is
(x1, 7,) ©8ass (x5, 5) Dothiye wesg crtitn ER DO drSn
2 2 2 2
D) (¥ =x) +(r2-») 2) y(x2+x) +(yy+ )
2 2 2 2
(3) \/(xz'xl) ~(v2-») ) ylxa+x) =(ry+x)
26 The coordinates of the point which divides the line segment joining the points (4, —3)
and (8, 5) in the ratio 3:1 internally is -
Dochpen (4, -3) Hbaw (8, 5) o I8 Yth Terpodind 3:1 AKBS* woddorr kLo
DoY) ArdsTen
(1) 3,7) (2) (7,3) 3) (-7,-3) 4) (-3,-7)
27 The centroid of the triangle with vertices (1,-1), (0, 6) and (-3, 0) is
Dochyen (1,-1), (0, 6) oot (-3, 0) ev orenre Ko (Bzhesin BwE) HESR Bo|Giw
Zigd -2 =5 -2 5 2 -5
(1)( 3) (2)( 3] (3)[3 3) ) (3 3)
SPACE FOR ROUGH WORK / & %08 Séroanosadd :w;'m
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28 Area of the triangle formed by the points (-5, ~1), (3, =5) and (5, 2) is
(-5, -1), (3, =5) H0aw (5, 2) &3 DothHos A8 |Bzhe: FTregin

(1) 32 (2) 22 (3) 42 (4) 52
: AE 3 _ v
29 In AABC, if DE||BC,—== and AB=35.6 cm, then 4D =
| CE a5
YUE 3
AABC &* DE || BC,/~—== ©8am AB=5.6 20.2. ®and, 4D =

CE 5

A C

Lt
-

(1) 2.8 cm (0.5 ‘@) 2.1 em (0.9 (3) 3 cm (0.D)  (4) 2.4 cm (%0.5.)

30 In AABC, DE||BC.1fAD=x,DB=x-2, AE=x+2 and EC =x — 1, then the value

of x= ol el |
AABC &° DEHBCF,":;ADW, DB=x-2, AE=x+2 %605 EC=x-1 owons,
‘x° dend .

4

\0

A D 0B
(1) 3 (2) 2 B)falg (4) 4

SPACE FO}_{; ROUGH WORK / 0& %8 Seravosesds gom
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o

A girl of height 90 cm is walking away from the basc of a lamp post at a speed of

120 cm / sec. If the lamp post is 360 cm above the ground, then the length of her
shadow after 4 seconds is

90 200.2. e o 8 2rdE Bibossin o8 Ersinmr 120 20.5./%. Bsns DY B.
BER0e550 I 360 0., eond, 4 Do SHrS V6V © 208 D T [

(1) 90 cm (0.1.) (2) 120 cm (0..) (3) 160 cm (0.5.) (4) 180 cm (0.8.)

If the ratio of corresponding sides of two similar triangles is 2:3, then the ratio of areas
of these triangles is

Bodh rd (Bghere ohdrd ghere Jd 2:3 vand, & [B2bere STrerge JND
(1) 2:3 2) V2:43 (3) 4:9 (4) 16 : 81

If ABC is a right triangle right angled at ‘C’ and let BC = a, CA=b, AB=c and let p
be the length of perpendicular from C on 4B, then

] |
(1) ep=ab (2) lz-=—l?-*b—2 (3) .s:-'2+£=2=,z:v2 (4) None
p a

- oot |8zhein ABC &* eonSioin 3Giw ‘C ¢ Soth. BC=a, CA=b, AB=c

0oy ‘C” 2od AB 8 AW eoudn PEH) p @ond

(1) cp=ab (2) —-2-=—.,-—6L2 (3) f.zv2+1:-2=1r::v2 (4) D& s°e

[f the areas of two similar triangles are 81 ¢cm? and 49 cm?2 respectively. If the altitude
of the smaller triangle is 3.5 cm, then the corresponding altitude of the bigger triangle
is iR

(1) 9.5 cm " (2) 9 cm (3) 7 cm (4) 4.5 cm

Ooth s (Bzbere Brrogen 81 35.20.0. DB 49 3.20.8. D9) [Bzbesing® A ey

PSP 3.5 0.2, wand, 2 (B2h230S° @ ©ErD ©038 PBY)

(1) 9.5 20.. (2) 9 20.%. (3) 7 20.%. (4) 4.5 20.2.
A tangent to a circle touches it in ___point(s). |

(1) one (2) two (3) three (4) infinite
9)E*I8 N8 336302 @A __ Dodhry(e) 5 331)308d.

(1) 28 (2) Boch (3) 2o (4) oo

—_———

SPACE FOR ROUGH WORK / 0 %8 Stronotieds goiy
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There are exactly tangents to a circle through a point outside the circle.
(I) two (2) three (3) infinite (4) None
) ar:&;goé‘ e :)g_a» Dothy) o 63533 a_Jw‘D'Déom é;)dgﬁagm
Ao redmw.
14}
(1) Boh (2) Hordd (3) edod (4) 26 =&

(¥}
The length of the tangent from a point 15 cm away from the centre of a circ'fl‘%:of radius
9 cm is \ f; "
(1) 15 cm (2) 13 cm (3) 11 cm (4) 12 cm

9 0.0, TgFEAVMT Ko H)Erd8 o Soo Wod 15 0., ErEans® &8 Dot Sow.
L, © Dot Hod H)Erd8 Aavwdd HY80P EH . g;}i
(1) 15 20.5. 2) 13 o.b. (3) 11 0.5, (4) 12 2ady.

(3

If AP and AQ are the two tangents to a circle with centre ‘O’, so that LPOQ =110°,
then LPAQ =

(8od Hedn&® ‘O’ S He H)Era8, AP Hdaxw A0 en Both H)80wen HBAK

ZPOQ =110° vawd, ZPAQ = ﬁ
(")
-
-

e

LE3

OO
P P )
- ;

=

v
N

i
¥

(1) 60° (2) 70° (3) 80° (4) 90°

L |

SPACE FOR ROUGH WORK / 9 38 $eranoseds gof
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39 If two concentric circles of radii 5 cm and 3 c¢m are drawn, then the length of the chord
of the larger circle which touches the smaller circle is

(I) 4 cm (2) 6 cm (3) 8 cm (4) 10 cm

5 0.2, 8w 3 %0.0. T grgrod’ Bod 2% Sole Hysren Hashagran. wand, D9
D)BD), 9)9B0B DS By @y arg PGP : _
(1) 4 20.5. (2) 6 2o.5. (3) 8 o5 (4) 10 20.5.

NG T
40 Thearea of a sector, whose radius is 7 cm with the angle 72° is s
(¥}
(use’ E_EZ_)
ool '7
(1)&33 cm? (2) 30.8 cm? (3) 28.8 cm? (4) 57 cm?
H)E Tgrdin 7 0.2, DO VYD Ewin 72° wand, VD Brogin

(T -27-2- ©d S8 )

-I"-l}

(1) 38 5.20.5. (2) 30.8 S.20.d.  (3) 28.8 S 0.  (4) 57 5.20.5.

41 If g_ 1nght circular cylinder has base radius 14 cm and height 21 cm, then its curved

W

3 | 22
surface area is . (use T=—)
i ., ~

(1) 924 cm? (2) 2772 cm? (3) 3080 cm? (4) 1848 cm?
a.é[é&‘u DTSE e Ty Frargrdin 14 0.2, 8ok & 21 Ro..

escmc‘b & e HEse Jreghn o (m= -272 ©d 88 D)

(1) 924 300, (2) 2772 3o, (3) 3080 S0, (4) 1848 .30,

42 Thc volume of a right circular cone with radius 6 ¢m and height 7 ¢m is :

(use n=£)
To PR
(l)"’{264 cm? (2) 792 cm? (3) 301 cm? (4) 616 cm?
6 '0__3 .. aﬁrmg&dk‘m 28 7 20.qD. ) SOAD 28 (8D Hysrsed Foand) BwEy. [
a,nﬁobémaa’m e | n=-%72 ©d SEDH0)

(1) 264 .o,  (2) 792 .20, (3) 301 20D (4) 616 ».20.5.

A e e S T Tl A
ity SPACE FOR ROUGH WORK / 98 508 Stronosseds gois
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If a cylinder and a cone have bases of equal radii and are of equal heights, then that
their volumes are in the ratio of

08 Frosn DO Fopd JErD eragrEinG DOk IHH KD s yon. @I,
T¢8 HEHBArmive S
(1)2l.::2 (2):2:%:3 (3) 323 4)1:4

If two cubes each of volume 64 ¢cm’ are joined end to end together, then the surface
area of the resulting cuboid is

(1) 128 cm? (2) 160 cm? (3) 192 cm? (4) 384 cm?

64 H05%) D0.. PBHBIrLEL Ko Todk JPMHdven vowen s KB ©HEAD.
o, AB1BD ('8 HTEY8 Bws). JoPrdse Deregiw
(1) 128 $308.  (2) 160 S 0. (3) 192 330D,  (4) 384 $5.20.5.

The value of sin®15° + c052 15° is

s.in2 15°+ cos>15° ). Jend

1 1
1) 0 2) 1 3)s. = @@ -
(1) @) () 5 @ 5
46 A chord of a circle of radius 4 cm is making an angle 60° at the centre, then the length
of the chord is
(1) 1 cm (2) 2 cm (3) 3 cm (4) 4 cm
4 20.D. argrgo SOAD H)80S° 2.8 eg Bo|So 5 60° 800 B0d. BdPH), © g PEY)
(1) 1 o.ab. (2) 2 0.qb. 3) 3 200.aD. (4) 4 20.qv.
47 If cosec 8+ cot 8=k, then the value of cosecB is
' cosec 0+ cot 0=k eand, cosecH Bws) Jdewd
2
k* +1 k™1 1
1 2) 0 3 4) —
()= (2) ) 7 @) -
SPACE FOR ROUGH WORK / 9& %38 Séronouadd deoin
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_ | _ B
48 If A, B and C are interior angles of triangle ABC, then the value of cos( A; ) 1S
- A+ B
A, B ®do C en (8zhao ABC 6°9 wodd S cos[ ™ ) gy dewd
(i)
A-B . (A+B . M,
(1) cos( > ] (2) Sln( ; ) (3) sm—g- :_, (4) cas-f—
6

49

S0

S1

The value of c0s54° cos36° — sin’54° sin 36° 1S

€05354° c0s36° —sin54° sin 36° BwE). Jewd
- 1)

V3 vy 1
3} — 7 Y
(3) 9 {_ﬁ] (4) \/5

-

(1) 0 2) 1

A boy observed the top of an electric pole at an angle q‘:i"i:elevation of 60° when the
observation point is 6 meters away from the foot of the pole, then the height of the pole is

(1) 6 m 2) 643 m )8R e ) e
Ty V3

8 arendh &8 g Sogo e o Hod 6 b drdos &) Dotk 0B deing

;eooe;io D PPeR) 60° élgs §°0008° H0800DY, o ;maio oI
1

(1) 6 ab. 2) 62 &. 3) 643 &. 'O (4) -\% a.

From a helicopter a person observes an object on the ground at an angle of depression
30°. If the helicopter is flying at a height of 500 m from thg—: ground, then the distance

between the person and the object ‘is )
, (¥y 0
(1) 500 m (2) 1000 m (3) 50042 m:  (4) % m
¥4

@8 00 od 28 B8 D) a8 HnHv 30° W) FHos® 56800, 2P D
w08 TrOLE 500 b. IS HDhEr ¢oB, 388 WAL HHD DSy erdiin

(1) 500 % (2) 1000 5. (3) 50042 %

-

) i
xﬂ

SPACE FOR ROUGH WORK / D& D8 'ém}p?.:sa;&:a derd
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S35

56

Two boys on the either side of a temple of 45 meters height observe its top at the
angles of elevation 30° and 60° respectively. Find the distance between the two boys?

- 40
(1) 6043 m (2) 4043 m (3) -j-—g m @) Fm

45 . s 2.8 HAD TP, GP)) AWBYUrN) 2B wrentd 30° Hdaxw 60° &8e S e’
20300 . & BB erend Dy Erdo Jos?

| 40
1) 603 b (2) 403 B (3) % . @ b

Two dice are thrown at the same time. What is the probability that the sum of the two
numbers appearing on the top of the dice is 132

Boh rDEen 280 &BoSEo 20008, Bok DS EI0T D) o Tdo 13 odeards
"’marégé 0es?

1) 1 @ILFORE = i)i @ 0

One card is selected from a well-shuffled deck of 52 cards, the probability of getting
the queen of diamond is

erthre SO 52 D ) o 8608 arrdydyEor a8 56HH 8, ©d Bhok ool S Hard8
"’mam‘ssé '

1 3 ] ]
(1) 57 (2) 6 ) 56 (4) 13

A Kiddy bank contains hundred 50 paise coins, fifty T 1 coins, twenty ¥ 2 coins and
ten X 5 coins. If one of the coins will fall out when the bank is turned upside down,
what is the probability that the coin is T 5 coin? |

2,8 §§ 2rg08 darS° B0 50 e SrBEhwen, ard X 1 sBdwew, 263 T 2 se@dven Hoa
0 5 TRiven e on. deryd dolBothen BRI PELr ey Eorr &8 B0 HE0d,
©d T 5 >R sodard8 Jogrdgd Jod?

1 '

) 2 L ..
() 3 @ = G) 5 @ -

Rain fall of a town in a week is 4 cm, 5 ¢cm., 12 ¢m, 3 cm, 6 cm, 8 cm and 4 cm, then
the average rainfall per day is

(1) 4 cm (2) 5 cm (3) 6 cm (4) 7 cm
e TEENS” 88 B 0 4 0.Qv., 5 0.., 12 0.0., 3 20.2., 6 20.5., 8§ 20.5.
00X 4 0.0, ®owd, 2.8 Blerd® Hordd S i

(1) 4205 (2) 5 2o (3) 6 20.5. 4) 7 20k,

e —

SPACE FOR ROUGH WORK / 9& 398 $éronoswds ST
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e ————————————————————————————————————————————————————————————————————————————

Which of the following is not a formula for arithmetic mean?

&1 (808 TAS° @osKdE HitwdHH Jr|Shn 520 DB?

Zf,-x,- _fodi_
S o
Z./}H,-'- [ =N ]
3) a+ x h 4) | +|—————|xh
8N [ | 3 +2f1‘f0‘fzx

2.0 ]

Mode of the data 9, 10, 19, 7, 11, 5, 6, 7. 8. 14. 10, 7. 6 is
9 10,19, 7,11, 5, 6, 7, 8, 14, 10, 7, 6 &3 Serodo Q). s
e 2) 7 (3) 10 4) 19

In a grouped frequency distribution, the formula to find median is

HBE)8 Do:ipdg DB, DeSerdin drsin

= f¥~1 {"+f
Lo —+c
(1) 7+ 2f x h 2) - 2f-— % h
) L
-’i-—cf ' fﬂ-—cf
(3) I+ 2f X h 4) 1 2f_ X h

The median of 75, 21, 56, 36, 81, 05 and 42 is
75, 21, 56, 36, 81, 05 HBas 42 © DegHBmY
(1) 36 (2) 42 (3) 56 4) 21

SPACE FOR ROUGH WORK / & ©98 Seranosasds dedn
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SECTION - B : PHYSICS (7°8§ wi90)

Convex mirror is used as

(1) Focussing mirror (2) Shayjr}g mirror
(3) Rear view mirror in automobiles (4) Den.;u._s;t mirror
& (B0 a°¢3S° Hrozrsey 58820 BB o). E;} -
(1) Sob¥de Sﬁamom (2) 'izboﬁ'?fdéo T8 $8yLonT
(3) erared® 8anb Qg S0 (4) doéf@gé d8yor
Concave mirrors can produce
(1) Only virtual (2) Only real
(3) Both real and virtual (4) None.
DS G 6 YN (D8N0 o0
(1) dorg (H8Doo &r|Esad (2) Qo3 (53020 K|
-
(3) ez LB e (DSDo08n (4) Stj@
The mirror which always gives diminished image ‘i’
(1) Plano convex (2) Convex mirror
(3) Concave mirror (4) Plane mirror
DROPE DBD (D800 @by B8 yeadw XTe
(1) e Hoersey (2) %ozrsey €56 yE9a0
(3) DErseE B8 % (4) mesg 56695
The focal length of a concave mirror is 20 cm. Atswhat distance the object is placed
to obtain the virtual image? e |
(1) Less than 20 cm (2) At 20 cm
(3) More than 20 cm (4) None | .
YErs™8 B8 y80 7270860 20 0.2, B, DErg (H8D020H B YD HHDH SHD GoBdewS
i) | L)
(1) 20 20.8. £5) S35 (2) 20 30.2. 54
* 7
(3) 20 0., 85y %5 (4) 26 =
The midpoint of a thin lens is called i
(1) Optic center (2) Principal axis
(3) Focal point (4) Centre of curvature
D0 Lo By Mg Doty
(1) &)8 Soldo * (2) p@mgo
(3) & So80 (4) Y e Bo|K0
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A light ray passing along principal axis of a lens is
(1) Deviated (2) Reflected (3) Refracted (4) Undeviated

g8 (Darargo Boad (Haxredo 5708 8w
(1) oo Fochdd (2) Dordso Bodhd (3) HEsto Bohd (4) Sedo Josh

In which one among the following cases the convex lens does not give a real image?
(I) When the object is between focal point and optic centre
(2) When the object is beyond the centre of curvature |

(3) When the object is between the centre of curvature and focal point
(4) None

& 800 o H0B8Y0S" Hrogrs 8 Eb¥o Jes (HBDo0 RHLEL?
(1) &8 maom' g6 &838 So|go DEE SHPDD GoVIDP
(2) 8&¥ HEo"So|odt edde HHDW GODKHPEH

(3) HE=~Soto WAL TP g HHHD GoDEHYP

(4) Db =%

A convex lens kept in a medium with refractive index less than the refractive index
of the lens behaves like

(1) diverging lens (2) converging lens
(3) plane mirror - (4) concave mirror

Hogrsed E05°d) @ HESS (De¥o Kooy Sy H Y8 hmEo Ko arBEos® GoDB YV
©d T 3B N Bod?

(1) J80\H86em Sér¥0 (2) So|b8de s&¥o

(3) Shde dEy=o (4) Hérsed E8yw0

The focal length of double concave lens having refractive index 1.5 kept in air with

two spherical surfaces of radii R; =20 c¢cm and R, =80 cm is
(1) =16 cm (2) —24 cm (3) -32 cm (4) 48 cm

808 HE0 heokin 1= 1.5 e o BYErs S Sb80 MOS* doSwBH. & Eb¥o @)
Gody S|ESere HEev Fgargren H6HIme Ry =20 20.0. 8050 R, =80 o.d.
oW, B&HE marsoééa MY,

(1) =16 0.».  (2) —24 20.5. (3). -32 o.d. (4) —48 0..
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70 The formula for refractive index of a prism is | S0
D8 HBHEH HreoBindS Gr(ein

) 0 D)

(Din=——""—"— (2) n=
D sin(A+DJ sin(i)
(") 2 2
-
Y . (A+D
: o sin| = | sin(A4+ D)
= = ————L
) : [A) (4) sin (A)
sin| — |
2 .
L) :
71 Théd Ieast distance of distinct vision of a healthy person is
(1) ;)‘5 mm (2) 25 cm (3) 25 m (4) 25 km
g&‘esg::oéam ErHHIB BN Sy LA Erdw |
(1)'95 2.5, (2) 25 20.%. (3) 25 &. (4) 25 8.5,
72 The focal length of a lens having power 4D is
(I) S cm (2) 15 em (3) 10 cm (4) 25 cm
5&3?3'::3650 4D o, 86 margoédén
i)
(I)E% 290.aD. (2)::15 0.0 (3) 10 20.00. (4) 25 20.00.
73 The defect In eye vision that people cannot see objects at long distance is
(I):;hypennetropla (2) presbyopia (3) myopia (4) None
Sr8od® db) SYoD SrdSd Lot B
(1) ég AR (2) Seresim (3) E0g8y (4) 26 o
74 'Thtfffhf)rocess of an eye lens to adjust its focal length to form sharp image on retina is
called
(I)cdistinct vision (2) accommodation (3) cornea ~ (4) pupil
Béjav 2 VOALV (D3do20 .‘.)csgé o & rgosTrd) SAD Aorr a‘mcb Jﬁméﬁ% c.xsaa
b:noé.:vd:?
(1) 3R Sy (2) daréw (3) s*0)our (4) 8D
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The appearance of red colour of the Sun during Sunrise and Sunset is due to
(1) Dispersion of light (2) Scattering of light
(3) Total internal reflection (4) None

Bl g0, WPoRgRNON HOreS® Ardgd HYT EMOBLH S Emd

(1) 508 JgH0 (2) s*0d® ﬁb‘émo
}
(3) PoRPTross HoPdXsso (4) 28 s
(7}
The S.I. unit of electrical resistance is L.
(1) ampere (2) volt (3) f'.':a.rad,h 0 (4) ohm
g8 B0 Gwgy, S.1. [Hieeaiin
(1) es02axb (2) 55%'5 (3) b (4) &
L)
Formula for specific resistance is U
(7]
:)‘?E) 28° C;F'ag KIJ‘@;:)JJ -
RA LA 11111 _RL
(1) P—T (2) P—? (3) P—f~.- 4) pP= A

The current in a conductor is directly proportional to the potential difference between
its ends at constant temperature. This 1s known as ¢

(1) Faraday's law  (2) Kirchhoff's law (3) Ohm'silaw (4) Newton's law
0 SRS DS 8 T E0S R DS |Dardrdn, ErEY Bg_g) wade Do @agdﬁé P08

0P ErRrS08® dodD. S 9 JoHwo wotrd. v
O

(1) 68 dovdn  (2) 855D dovdan (3) 4D Javdin  (4) Srghd davddn

79 Kirchhoff's junction law is based on conservation of
(1) energy (2) momé_iiritum
(3) charge (4) angul'ﬁi" momentum
86775 2:088 VDA ) TS 0B A LD e.o:ua:bo{) moﬁ'?
(1) 48 (2) Lcsa‘)gﬁ’mn
(3) eRFw (4) SPedos (55550
e e
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Calculate the resultant resistance in the following circuit.
& (808 Hoan0d® PO B B0 Jos?

4 Q
7Q
12 Q
V
(1) 3O (2) 10Q (3) 213712 4) 7Q
81 The instrument to measure potential difference is
(1) Ammeter (2) Voltmeter (3) Galvanometer (4) Wattmeter
PBINHS Dard) §OV HOEGI
(1) ey&6 (2) FSweb (3) rreogzrdeE (4) a°e5Des
82 The tangent drawn to the magnetic field line at a point gives
(1) magnetic flux (2) current
(3) direction of the magnetic field (4) charge
@0 08 Bl 20D &8 Do) 06 A5 50)6,)39_3 0% & Doy H¢ B BenHHod?
(1) ©aNr)od edardrdn (2) g |Hardrdn
(3) o) o 5|8 &F (4) e
83  The magnetic flux passing through unit area taken perpendicular to the uniform magnetic
field is called
(1) Magnetic flux density (2) Magnetic flux
(3) Magnetic field (4) Induced electromotive force
B @0 08 B|B0S ) (Db Ea'ogc; Ho [@rodo thoae $erd8 eoworr S el
Q0L E)?
(1) @by o8 wdarde oo\ (2) 000 08 darsrhn
(3) ®a%p08 3|80 . (4) (208 Ahgaryol wedn
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84 The direction of the magnetic field lines outside the current carrying solenoid is from
(1) South to North (2) North to South
(3) East to West (4) West to East

ADLE (HPR0D) VDo waneé: VODT.08 2T BF By dotwod?

(1) &80 Do aédo (2) ﬁgdg K_:no& $8es0
(3) &rdhy H08 D (4) 2608 208 drehy

85 In electric motors
(1) Electrical energy is converted into mechanical energy
(2) Mechanical energy is converted into electrical energv
(3) Electrical energy 1s converted into light energy
(4) Mechanical energy 1s converted into light enerlgyl

D8 Brérbodt

(1) debog8 48, axro|B 48 srrés0n
(2) atro@s 48, mgs 38 Srcros
(3) Abg8 48, 508 F8rr S eod
(4) axro|¥ 48, 5708 ¥8rr WrH&00

86  Which law states "the induced current set up in the coil is in such a direction that it
opposes the changes in the flux"? '

(1) Kirchhoff's law (2) Lenz's law
(3) Coulomb's law (4) Ohm‘s law

) N0 [HeEo "SoQrd a‘:-emxme’i“ S5%0d (08! A58 (dardro a8 S ER0d
VOB 08 VDI oS® Erd) 3{9263 938080Besew @wmm

(1) 8655 davdm (2) 8ot K)am‘n‘&'m
(3) &rexrosS Davrdmn ' (4) & danHaw
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87 Induction stove works on the principle of &L

(1) Magnetic induction (2) Electrostatic inducfi:zin
(3) Electromagnetic induction (4) Electric shock

R06ES D AN B Bob?

(1) ©abr)od (e (2) ® g (axes

(3) hgd woHI) 08 (e ‘ (4) dgd Hreso

88 A conductor of length 'I' is moving perpendicular to magnetic field 'B' with a speed
'v'. The motional emf is given by -

1" dHieo oirgo, 'B' 0andgo8 5e°d8 eoworr V' W08 Sdendn)d. orird §de
D¢ DD KD garyoE 200

(1) Blv (2) Bv4l (3) vEl (4) %l-

89 The magnetic force exerted on a 3 m length conductor carrying 2A current when
placed in a uniform magnetic field 0.4 T at an angle 30° is

3 . PR, 2A g8 (Hrdrdn o s Bk 04T wabd)os wdord ol Ko §i
83% 30° 8°008° GoDTIPW), @ KD Send BaHwdd ©oHI)08 B8 200 Jod?
(1) 12N (2) 12N (3) 24 N (4) 24 N

90 Which one of the following statements is correct?
(1) AC changes its magnitude but not direction
(2) DC changes its magnitude and direction
(3) DC changes its direction only
(4) AC changes both its magnitude and direction

& (8065 adedd TseeS” B HOTHH?

(1) AC &% 05remind Sr(@d &rth)Hotwod 520 BFD so8
(2) DC &5 6% 2o Hddrred S yHoénod

(3) DC &% 8% dr|gd Srdhy%Hotnod

(4) AC &% 64 2B HBaresred Bodoe3d A yHotwod
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SECTION - C : CHEMISTRY (82003 FPRYD)

91 What is the symbol used in a

chemical equation to represent the gas evolved in a
reaction?

G003 B85S AbrBerH Ta0HBE EIat® S Esmost ArDohH Difeyn
(1) - (2) (3) 1 4) 1

92 Volume occupied by 10 g of hydrogen at STP in litres is

(4) 224
93 Quantum mechanical model of atom was developed by
(1) Neils Bohr (2) Sommerfeld
(3) Erwin Schrodinger (4) Rutherford
S 800 alro|BE HEre Sdrars (BSJB0DS &)
(1) Sy &°6 (2) FDBDS
(3) =028 ABorb (4) shlalel
94  Maximum no. of electrons in a sub shell is equal to %

&8 &5 86 806° aod (105 dostenes dopg
(L), 2% (2) n? 3) 2271+ 1) (4) 21 + 1

95 Number of unpaired electrons present in carbon atom

S*E)® HSErand) st GY) 2,040 Qo?ja‘:w Soe
(1) 6 2) 4 (3) 3

96 Law of octaves was proposed by

(1) Dobereiner (2) Moseley (3) Mendeleef
ORE JOBDHIVD (HBFBoDdT

(4) 2

(4) Newlands

(1) @ebss (2) 3%  (3) DoddS (4) drgeroby

97  Number of elements present in sixth period of modern periodic table
B G @éé" 8IS DOANES® G408 farersce Nog

]

(1) 32 (2) 8 (3) 18
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98 Which one of the following atom is smaller in size ? '
& 1800 TIS° Sy d HOXr0 o HEErED) IO ?
(1) F 2) O . (3) N 4) C
LE)
99  lonisation energy along a period from left to right generally
(1) increases (2) decreases r __: (3) remains same (4) none of the above
©alEE 48 HOaBES® ik Hod HBS FHEE Ferdwor
(1) S (2) e (3) &rsch (4) D% )
100 Element with atomic number 17 bélongs to
48 >
(1) VI A group, 2" period vt (2) VII A group, 2™ period
(3) VI A group, 3™ period W (4) VII A group, 3™ period
-
e Sopg 17 Ko dreso SIS Bodhd
(1) VI A 6575, 2 % Hoans (2) VII A 15508, 2 & H0onE
(3) VI A 575, 3 % H0ank HT (4) VIIA &%), 3 8 20008
=
101 Oxygen gains electrons during the chemical changes.
w828 rand Srh B sahgiypd, - JOTYDOD (oD,
(1) 1 (2) 2 (3) 3 (4) 4
102 Number of bond pairs and lone pai{g in the valence shell of nitrogen in NHj.
NH; &' 3&°eR erirg 846° droth 206 0ok 2,060 Jo5*9S woten
(1) 2,2 1 @).1,3:7. 9 . 3) 3,4 (4) 4,0
103 Bond angle in BeCl, molecule is *
BeCl, eomHé® 2006 Seodn
(1)#120° (2) 180° A (3) 109° 28’ (4) 107° 48
SPACE FOR ROUGH WORK / 94 98 $travosasds goms
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104

Ionic bond 1s formed due to transfer of electrons from
(1) metal atom to non-metal atom

(2) non-metal atom to metal atom

(3) non-metal atom to non-metal atom

(4) metal atom to metal atom

ALY 20650 A3 WEE 0T 9D 65O Do 8D
(1) &°% d8hrend) D08 &, HhreandH)H

- (2) 08 HEPD) Dod S HEHraH %

105

106

107

108

109

(3) ©&°F HErend) Dod WS P HErHH
(4) &% HarenY) Dod S5 DS D

Polar covalent bond present in
Gy ) Eéb Ho@rezal 200850 E0d

(1) NaCl (2) N, (3) Na,O (4 HCI
Double bond present in

&g 200 obd

(1) H, (2) HCI 3) N, 4) O,
The colour of methyl orange indicator in basic solution is |

(1) Yellow (2) Green (3) Orange “(4) Red
56 (rdered” 1PS edod s @) Sork

(1) &%) (2) wHDdSy (3) &dos (4) XD
The reaction of an acid with a base to give a salt and water is known as
(1) Oxidation (2) Reduction (3) Neutralization (4) Combustion
5608 e Sig 220D ©derd) HBAKL M JENEB $dg

(1) @gaécso (2) o880 (3) e’.’eefgéﬁeao (4) &srdo
Which one of the following is used for disinfecting drinking water? -
(1) Baking soda (2) Bleaching powder

(3) Washing soda (4) Plaster of paris

&0 A3S° (8o Hor8oSErA8 (BDHoFBST SHIrACDO IO?

(1) 2380hR At (2) Dok b

(3) a20h Jtar (4) 6 6D 0
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110 The process of dissolving acid or base in water is ERALEE

(1) Exothermic process (2) Endothermic process
(3) Neutralisation (4) None of the above
wird) Bae 5rod) A8S° K0A0T (HBaw

(1) o&Brsy S (2) Qs S6¢

(3) éeaéédm Sg (4) 2 s°ed

L{}
111 The metal that occurs in the free form (native) is

(H8)BS” Do RBS* Gggraly ¥

(1) Pb “(2) Au (3) Fe (4) Hg
112 Galena is an ore of -

RO &3O B rdd

(1) Al ~ (2) Pb (3) Hg - (4) Zn

L0
: ()
113 In smelting the ore{;'s}

(1) Oxidized (2) Neutralized

-

(3) Reduced gad (4) None of these
Hosodt ey L0

(1) e8yseoseheod ' (2) e‘sé.fgsaoéa}é)éaoa
(3) gméboémméaﬁ? (4) 8 52

W % .
114 The hydrocarbons containing only single bonds between carbon atoms are called

! - )

(1) Alkanes «(2) Alkenes (3) Alkynes (4) Benzene
5°6)S MarmPe HEg I8 wogron SrEH L0A dod I s 6)Sown __ wotrd.
(1) e (2) e 3) 8 (4) BosS

115 Which one of the following is a ketone?
% (808 =e38° 8655 DA?

11‘,' 3

-

0 y
[t - '
(1) CH;~C-CH; “(2) CH;~0-CH; (3) CH;-CH,0H (4) CH;3 —CHO

e R U O O SO NP A SO PO
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116 If the hydrogen atom of ~COOH gets replaced by R' (alkyl group)

_____are
obtained.
(1) Acids (2) Esters (3) Ketones (4) Amines
~COOH &) 2r |85 IreNH K whenrr 'R’ (68) & (D)2 588D S aw.,
(1) edren (2) XBen 3) 88°%e» (4) ©oDSen
o
117 The number of sigma and m-bonds in ethyne molecule - el
L0
(I) 1sigma, 1 (2) 2 sigma, 2 (3) 2 sigma, 1 (4) 3 sigma, 27
2B LeH S Y DB T - ogre dopg
I
(1) I dey, I (2) 2 oY, 27 13) %2 o, 1o (4) 3 o), 2
(¥} |
118 The process of conversion of starches and sugars to CzHgaH is called
L)
(1) Combustion (2) Hydrolysis (3) Fermentation” (4) Esterification

208 Horgren HBa 8 6 98S wep S m 28y (48w

(1) &0 (2) modEie (3) BoogyBax 90 (4) oveEss
| A
-
119 Which of the following is an unsaturated compound?
V{3

S08 8&" etod )b ) ¢iso Ha?

(1) CH, @) CH;~CH _
-

120 The final compound formed when methane react with chloririe in presence of sunlight
. L0
1S - -

POLYCET-2024—A ] 25 [P.T.O.
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SECTION - D : BIOLOGY (&w9)

Which test is performed to identify the presence of starch in leaves?
(1) Picric acid test (2) Iodine test

(3) Nessler's test (4) None of the above
oHE® 2od HErgry BB AorBoHL ) HBY whirhin?

(1) (88 ey HBY (2) o@BraS HBY

(3) D69y 66 (4) b s

In the mouth, the crushed food mixed with saliva which forms a slippery lump is
called?

(1) Bolus (2) Chyme
(3) Peptones (4) None of the above
SES° Hud) enrr Davadd wifdo eromeos’ O $arr, DI arthd Hearardy ot
DT D0HE?
&
(1) 5o - (2) 3
(3) 2% (4) 26 s

Which of the following statement is true?

(1) Chlorophyll 'a" is bluish green in colour and Chlorophyll 'b' is yellowish green in
colour

(2) Chlorophyll 'a' is black in colour and Chlorophyll 'b' is grey in colour

(3) Chlorophyll 'a’ is yellowish green in colour and Chlorophyll 'b' is bluish green in
colour |

(4) Both Chlorophyll 'a' and Chlorophyll 'b' are white in colour

Bod TAS° DB HBBD Een? |

(1) $6°26 - 'a' DO oSy 560 ©oam FEHS - b KoY wbvs) 55068 G0k,
(2) §'6°S - "2’ dend Hod” oot FEDS - 'b' diee $os® sotkid.

(3) §'6°>S - 'a' o esHivsy H80 ook §6°HS - 'b' W wHHS) HoS® Goki.
(4) £°6°5 - 'a' ©dat 5_55“3)6 - 'b' Boch BenD) ::goés GothHdD.
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124 Choose the correct sequence of steps in Respiration.

(1) Breathing — Gaseous exchange at lungs level — Gas transport by blood —s
Gaseous exchange at tissue level — Cellular Respiration

(2) Breathing — Gas transport by blood — Gaseous exchange at lungs level —
Gaseous exchange at tissue level —s Cellular Respiration

(3) Gaseous exchange at lungs level —s Breathing — Gas transport by blood —
Gaseous echange at tissue level — Cellular Respiration

(4) Cellular Respiration — Gaseous exchiahgc at lungs level — Gas transport by
blood — Gaseous exchange at lissue;_lujé'vel — Breathing

g% BoS® B0 XS e (SHro KBS0,

(1) GE° NIV gD - BEDBHOS” raty ::1::-6;)& — G50 argoe aray Saree — Swererd® '
O BB — Ee BN Bak

(2) ST :J?a*’s&w — G50 orgor araty Sare — G103 ed° ot B8 — Svererd”®

4

a0 Ardd — S 7R Bak T3
(3) &RBBHOS® ratn &r038 — ST°NGR QTR — B8O argOE ok Sarer — Emererd®
o &rdN8E — Ew B o,

T Hr0YB — GEE)RH Jweren LD

125 Each ATP molecule gives how much of energy? -
(1) 8700 calories (2) 10800 calories l(3_) 7200 calories  (4) 10000 calories 1,
i}

8 ATPS® Jdod 48 dog dotnod? )
(1) 8700 srobev  (2) 10800 sceben  (3) 7200 scerbex (4) 10000 sceben

126 C¢H;,04 +60, — 6CO, + 6H,0 + Energ;f:rhis equation summarizes which process?

(1) Excretion (2) Respiration
(3) Photosynthesis (4) Digestion
CeH 1206 + 60, — 6CO, + 6H,0 + 48, & 8600 B arDiod?
(1) g8 (B _ ' @) =gd8as
(3) 88mesidg Ho&rH (Bas @) Sg8an
(¥}
127 The yellowish straw colored fluid portion-that forms after the blood clot is called
. e i
(1) Plasma (2) Fibrin (3) Serum - (4) Thrombin
880 AGEES Shd ADS KB BHBord (Sardy _ wotrdh.
(1) 2y (2) DS (3) 8o (4) |2°0DS
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128 What is the name of the valve present on the rigﬁt Auriculo-Ventricular septum between
right atrium and right ventricle called? kL
(1) Tricuspid valve (2) Bicuspid valve (3) Mitral valve (4) Pulmonary valve
$8 808%H HB 26085 Dgrie H& 508 25050088 s o §arérd) D208 %?
(1) oE@an oto (2) oagan saéo (3) (&S Eardo (4) DD S Sardo
129 Regarding blood pressure, what is the systolic pressure in a healthy young adult?
(1) 80 mm of Hg (2) 20 mm of Hg
(3) 100 mm of Hg (4) 120 mm of Hg
88 ﬁxéavag NOVOHOW eﬁ‘ﬁgéoé@é oSS oS ‘2:@*95 53850 o &otnod?
(1) 80 .2, P&EH Webdo (2) 20 .8, PESBH xS0
(3) 100 .2, DEEH 2x$H0 (4) 120 .. PSS b0
130 Evaporation of water through leaves is called?
(1) Respiration (2) Transpiration  (3) Transportation (4) Circulation
Hero Hod b 60 drdod® B8 THErd) JoKE?
(1) ==gd8ak (2) 2830 (3) Saree (4) B
131 Deficiency of Vasopressin causes excessive dilute urination. This condition is called?
(1) Diabetes mellitus (2) Diabetes insipidus
(3) Scurvy (4) Beri beri
RS S0 Beb Sd MmES do urEo eporr RBoBuhD. & PBI JHo?
(1) S0BER DOLD (2) GorBER BAYVED
(3) %63 _ (4) 2630
132 The maximum urine storage capacity of urinary bladder is A
(1) 2000-3000 ml. (2) 50-100 ml.
(3) 10000-20000 ml. (4) 700-800 ml.
Q| Fan o’ pletelep e |0 doR GOLNOH.
(1) 2000-3000 .O. (2) 50-100 .9.
(3) 10000-20000 .O. (4) 700-800 ..
133 Kidneys are the excretory organs in which animals?
(1) Amocba (2) Sponges (3) Birds (4) Earthworm
Q| ghomren @ EHed® AdsPorren?
(1) ®er (2) dyosew (3) dHew (4) ST
ey
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Which of thel following poisonous, nitrogenous byprroducts are stored in different parts
of the plants?

(1) Tannins (2) Resins (3) Alkaloids (4) Latex

(Bo® aré3s® W) 0S° N ermred® degBowad) HSadaud, WRTOSDD S yo° ) en
DD?

(1) &rdSex (2) BESex (3) voperang  (4) 8,
= 1s an endocrine gland, secretes the hormones insulin and glucagon.
(1) Thyroid - (2) Adrenal (3) Ovary (4) Pancreas
2D YOS WO PSS el H65 0 D (508 [MDotH.
(1) Boraws - (2) 8% (3) % dass4o (4) g0
causes ripening of fruits.
(1) Ethylene (2) Auxins (3) Cytokinins (4) Gibberellins
0 deren H5°8I8 Dby,
(1) 2605 (2) &8sy (3) "85, (4) 22)BOSY
Roots grow downwards, plants respond positively for gravitational force. What is this

called? ,

(1) Phototropism  (2) Geotropism (3) Hydrotropism (4) Thigmotropism
B 20D B WrHE06, Ty e théhergEdm 00 B (HB3yodFow. BV Ddotkd?
(1) 508 w3850 (2) hergssso (3) dBemdsto  (4) DY0° )50

bacteria is responsible for the formation of curd from milk.

(1) Bacillus thuringiensis (2) Lactobacillus
(3) Pseudomonas ‘ (4) Xanthomonas

- o008 WWth SaxrdSad8 _ erfoare Sdydsos.
(1) 2rReS &B80EIRD (2) orBarded
(3) JrEBrSS (4) 208 3rdS
Examples of propagation by stem are :
(1) Stolons and runners (2) Bulbs and corms
(3) Rhizome and tuber (4) All of the above
5°0¢80 Gg0° AP [Hegd 1B 20D dorteren D2
(1) o Hdaxw 638 (2) edaren Hdo Lodo
(3) 5"y daxw Hod srodo (4) 3 @bl

SPACE FOR ROUGH WORK / & %98 Seranoseds S

POLYCET-2024—A | 29 [P.T.O.

(3 Sscanned with OKEN Scanner



F e s & =" o

140 Majority of flowering plants have an embryo sac consisting of

141

142

143

144

(1) 7 cells and 8 nuclei (2) 8 cells and 8 nuclei

(3) 7 cells and 7 nuclei (4) 5 cells and 4 nuclei

TP PAYOD W) & 2odE ¥o Fgrdmonr __59A dotrow. |
(1) 7 Seren S0 § 's".olgs;en (2) 8 Heren B 8 Solsren
(3) 7 Segren S0 7 '.'5".0@53‘@ (4) 5 Zeren B0 4 So|seen

The correct order of pasS:':lgie of spermatozoa is :
(1) Seminiferous tubules; 5 Vasa efferentia — Epididymis — Ejaculatory duct —
Urethra Pe 3

(2) Seminiferous tubules — Epididymis — Vasa efferentia —s Ejaculatory duct —
Urethra PIE,
(3) Seminiferous tubules, — Ejaculatory duct — Vasa efferentia — Epididymis —s
- Urethra =
(4) Seminiferous tubules - Ejaculatory duct — Vasa efferentia — Urethra —s

Epididymis
B BH(E8ere [Harrem WEo IB?
(1) e B8 TPEew -; ;ﬁ;Lém@ém-a BBV o Yo — %o
(2) HFe B8 Ve —» RBAVS— H|SDEen — o0 T¥o— (HR¥o
(3) HIFer)8E V8w i dped Yo HETDLen 5 BAELH s Sago
(4) DB e 658 o P¥en —>‘e62re>a5 0 D|ETVEew - D0 o DAAD

The walls of the food pip_iisccretes a slippery substance called =
(1) Amylase (2) Lipase (3) Mucus (4) Bolus

STy Fde o antheh thmorio 86 Srged) (90 av.

(1) FdS (2) B3 (3) Ao (4) oS

From the stomach, the partially digested food (chyme) is released into :
(1) Duodenum (2) Lé.rge intestine  (3) Small intestine (4) Rectum

dgrdano ©ob 8 Brehd’, vtoirbomr S5 ufdo BS) 68 bdossob.

(1) esogdreo (2) =% (% (3) DBy (B (4) Hbeo
The phenotypic ratio of Fi'generation in a monohybrid cross is
VEH0ECmO0 BB, F2 $80 @ty ¢)¥stirs nd B4
(1)l 2231 (2) 3:1 (3) 9:3:3:1 (4) 2:1

T 3 3
-
‘
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The number _of allosomes in human cell are

29586008 §oﬁ§ B"3r£ a0 (allosomes) Sopg .
(1) 2 (2) 4 (3) 23 | (4) 46

Change in the frequency of genes in small populations is called x
(1) Variation (2) Mutation (3) Genetic drift  (4) Evolution
D) wRrered® B85 Sorr HoAoB Sospéxde HOSorr 2DgYHO FH:HHLoS® Hrdd e
DB ) 0erd.

(1) 3go (2) D08 (3) ag agnm (4) HdeedHoO

Occurence of vestigial organs abruptly in human beings is called

(1) Atavism (2) Dwarfism (3) Regeneration  (4) Mutation
SriYHed” e8> HM 0bEh vdaharen HOA EMRoBa Ry ©0er.
(1) es&dezo0 (2) DODrEso (3) PROSEB  (4) DD

The process of entry of pollutants into a food chain is known as

(1) Restoration (2) Bioaccumulation

(3) Biomagnification (4) Food web

SFEY Fendd” srendrgen Do) 0T,

(1) IS (2) 228 Sgdrasto

(3) B8 :Jo)éédm (4) &8s do

Seeds from ___plants are used for the production of biofuel.

(1) Jatropha (2) Chrysanthemum (3) Hibiscus (4) Cuscuta
25 wo¢gHo ¢&\D8 __ ) By, ddTrod arderd.

(1) e&°> (2) orHod (3) Lo (4) 8 gt

Coal, Petroleum (oil) and Natural Gas belongs to which type of fuels?

(1) Chemical fuels (2) Bio fuels

(3) Sunlight - (4) Fossil fuels
&0, S Oano DB Hre: TrauHen O E5°I8 BodS BotTren?
(1) SroH8 aotsaren (2) 225 m088zren

(3) &rdgsod (4) Beres mogaren
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